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R,S, T, U, V, W, and X are seven friends sent to seven
different cities for joining as SBI PO. The cities are,
Cuttack, Pune, Patna, Surat, Shillong, Noida, and Kochi.
One friend go to only one city. Neither R nor T is sent to
Patna. W and R are posted in Pune and Shillong but not
necessarily in the same order. V is sent to one of the cities
among Pune, Cuttack, and Patna. R, T, and X are not sent
to either Kochi or Cuttack. Either S or T is sent to Surat. S
and W are posted in Shillong and Noida but not necessarily
in the same order.
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Neither R nor T is sent to Patna. W and R are posted in
Pune and Shillong but not necessarily in the same order. V
is sent to one of the cities among Pune, Cuttack, and Patna.
R, T, and X are not sent to either Kochi or Cuttack. Either
S or T is sent to Surat. S and W are posted in Shillong and
Noida but not necessarily in the same order.

Which agent is posted in Kochi?
hifoer § i GT TS a1 82

1) T / forar
)X / X
3)R / R
HU /U
5S /S



Neither R nor T is sent to Patna. W and R are posted in
Pune and Shillong but not necessarily in the same order. V
is sent to one of the cities among Pune, Cuttack, and Patna.
R, T, and X are not sent to either Kochi or Cuttack. Either
S or T is sent to Surat. S and W are posted in Shillong and
Noida but not necessarily in the same order.

T is posted in which city?

T fFT TR A AT 82

1) Kochi / ahreeit
2) Surat / 9
3) Shillong / f§'IT'|'IT~'T

4) Patna / [42qT
5) Pune / 9O



Neither R nor T is sent to Patna. W and R are posted in
Pune and Shillong but not necessarily in the same order. V
is sent to one of the cities among Pune, Cuttack, and Patna.
R, T, and X are not sent to either Kochi or Cuttack. Either
S or T is sent to Surat. S and W are posted in Shillong and
Noida but not necessarily in the same order.

Which agent is posted in Cuttack?
heeh U I HT USIE AT 22

DX /X
2)R / R
3) T / fomaT
S /S
5V / V



Neither R nor T is sent to Patna. W and R are posted in
Pune and Shillong but not necessarily in the same order. V
is sent to one of the cities among Pune, Cuttack, and Patna.
R, T, and X are not sent to either Kochi or Cuttack. Either
S or T is sent to Surat. S and W are posted in Shillong and
Noida but not necessarily in the same order.

X is posted in which city?

X foFa s § aATa 22

1) Pune / 9UT

2) Kochi / shi=eit
3) Patna / 92qt

4) Noida / -ITGST

S) Surat / 9Id



Neither R nor T is sent to Patna. W and R are posted in
Pune and Shillong but not necessarily in the same order. V
is sent to one of the cities among Pune, Cuttack, and Patna.
R, T, and X are not sent to either Kochi or Cuttack. Either
S or T is sent to Surat. S and W are posted in Shillong and
Noida but not necessarily in the same order.

S is posted in which City?
S Tere 9TEx o AT &2

1) Pune / 9UT

2) Kochi / shi=eit
3) Patna / 92qt

4) Noida / -ITGST

S) Surat / 9Id



How many such pairs of letters are there in the word
"HIGHEST" each of which has as many letters between
them in the word (in the forward direction) as they have
between them in the English alphabetical order?

"HIGHEST" 9158 % UH fehe 37&ri o I (AT < ferom

) ¥, Rtreh sar vreg & a9 &Y AR 2,
mﬁsa’ﬁr%ﬁ%‘?

1) Three / €9
2) Four / @Y
3) Five / A=
4) Two / U
5) One / Uk

raﬁ?raqﬁ?ﬁawfr



In a family of 6 members, L, E, C, U, H, and O. U is the
daughter of L. C is the brother of U. U is married to H. E is
the mother-in-law of H. O is the son of H. How is O related

to C?
TS URAR H 6 98T, L, E, C, U, H 3R O ¥l U, L T =T 21

C, U T TS Bl U, H%smarfaaT%a%lE Haﬁw%m H
amgsr%l 0, C ¥ forT TehR Tatra 22

1) Brother / ‘J:I'I'é‘
2) Sister / dgqd

3) Uncle / 3Thet
4) Nephew / NISIT
S) Niece / g



Seven persons I, J, K, L, M, N and O have different heights.
I is taller than J and L. K is taller than only N. M is shorter
than O. Number of persons taller than I is equal to number

of persons shorter than L.

arasath 1, J, K, L, M, N 31T O Y 18 STer-3ten 2l 1, J
INRLAATZ KFTANTAETEI M, O A BT [
T ST (<Rl hl HEAT, L ¥ BIE SRl chl HEAT o sTeR 2|



Seven persons I, J, K, L, M, N and O have different heights.
I is taller than J and L. K is taller than only N. M is shorter
than O. Number of persons taller than I is equal to number
of persons shorter than L.

Number of persons taller than M is equal to number of
persons shorter than .
M ¥ ST ST RRAT hl TEAT o BIC ARKAT hil TEAT
& ST B

1)K
2) N
3)J
4) L
5) O



Seven persons I, J, K, L, M, N and O have different heights.
I is taller than J and L. K is taller than only N. M is shorter
than O. Number of persons taller than I is equal to number
of persons shorter than L.

How many persons are shorter than J?

frar =afr J A B E?

1) Two / &t
2) Four / TR
3) One / T
4) Five / 4T
S5) Three / LIC)



Statement:
F>Y2X<Z,CSX<W
Conclusions:

I.7Z>C

II.F>W

1) Only I follows

2) Only 1I follows

3) Either I or 11 follows
4) Neither I nor 11 follows
S5) Both I and II follows



Statement:
H=AZ2NSD>S,N20=R
Conclusions:

I.R>H

I.LR=H

1) Only I follows

2) Only 1I follows

3) Either I or 11 follows
4) Neither I nor 11 follows
S5) Both I and II follows



Eight buses A, B, C, D, E, F, G and H are parked around
the square park. Four buses are parked on the corners
while four are parked on the middle of the sides. Buses at
corners face away from the centre while buses on the middle
of sides face towards the centre. Bus H is immediate right of
bus G, which is parked at the corner. Bus E is second to the
right of bus D and both face in same direction. Three buses
are parked between bus E and bus F. Bus A is opposite to
bus B. Bus B is not adjacent to bus D. Bus C is not parked
on the middle of the sides.

AT TH A, B, C, D, E, F, G 3 H Ueh TThT UTeh oh ART 3TN
@ FOm o R W § aa%%rr{ aTTeN % ofter § Wt
3l ﬁﬁm@ﬁaﬁm%mﬁs ST ok st o Tl

o S 2| T8 H, 98 G o dteh 210 , F1 hia 0 T 2|
TTE, a9 D %maﬁwm% ﬁiaﬁwﬁw%
Wm@r%l o E 3 9@ F o ool 8 o i1 o8 Tl 8| a3 A, 97

B % forodfia @t §1 99 B, 76 D % Rerean 78t 21 7@ C
gmaﬁé;aﬁaﬁﬁﬁ@ﬁ%l



Eight buses A, B, C, D, E, F, G and H are parked around
the square park. Four buses are parked on the corners
while four are parked on the middle of the sides. Buses at
corners face away from the centre while buses on the middle
of sides face towards the centre. Bus H is immediate right of
bus G, which is parked at the corner. Bus E is second to the
right of bus D and both face in same direction. Three buses
are parked between bus E and bus F. Bus A is opposite to
bus B. Bus B is not adjacent to bus D. Bus C is not parked
on the middle of the sides.

Which bus is immediate right of bus A?

T A & STk =T0 G 99 22

1)BusH / l@ H
2)BusF / 98 F
3) BusD / 99 D
4)BusC / 99 C
S5)Bus G / 99 G



Eight buses A, B, C, D, E, F, G and H are parked around the
square park. Four buses are parked on the corners while four
are parked on the middle of the sides. Buses at corners face
away from the centre while buses on the middle of sides face
towards the centre. Bus H is immediate right of bus G, which is
parked at the corner. Bus E is second to the right of bus D and
both face in same direction. Three buses are parked between
bus E and bus F. Bus A is opposite to bus B. Bus B is not
adjacent to bus D. Bus C is not parked on the middle of the
sides.

How many buses are between bus D and bus G when counted
from the right of bus D?

TG D % S0 T T W aH D 3R @ G o et fohaT oo 32
1) Four / 4

2) Three / 3

3) Two / 2

4) Five / 5

5)Six / 6



Eight buses A, B, C, D, E, F, G and H are parked around the
square park. Four buses are parked on the corners while four
are parked on the middle of the sides. Buses at corners face
away from the centre while buses on the middle of sides face
towards the centre. Bus H is immediate right of bus G, which is
parked at the corner. Bus E is second to the right of bus D and
both face in same direction. Three buses are parked between
bus E and bus F. Bus A is opposite to bus B. Bus B is not
adjacent to bus D. Bus C is not parked on the middle of the
sides.

Four are the same in a certain way thus forms a group. Which
among the following does not belong to the group?

TR Ueh (T3 &0 § Ueh G0 € 3R HeT0 Ueh e ==t 8
freferfRaa & & wia-ot wwe = o i 22

1)Bus G / 99 G

2)Bus A / 90 A

3) BusB / 9B

4)BusH / SS9 H

S)BusC / 99 C



Eight buses A, B, C, D, E, F, G and H are parked around the
square park. Four buses are parked on the corners while four
are parked on the middle of the sides. Buses at corners face
away from the centre while buses on the middle of sides face
towards the centre. Bus H is immediate right of bus G, which is
parked at the corner. Bus E is second to the right of bus D and
both face in same direction. Three buses are parked between
bus E and bus F. Bus A is opposite to bus B. Bus B is not
adjacent to bus D. Bus C is not parked on the middle of the
sides.

Which bus is immediate right of bus B?
o9 B o 31k ST0 & -6t 579 82

1)BusC / 98 C
2) BusD / 98D
3)BusF / 99 F
4)BusG / 9 G
S5)BusE / @ E



Eight buses A, B, C, D, E, F, G and H are parked around the
square park. Four buses are parked on the corners while four
are parked on the middle of the sides. Buses at corners face
away from the centre while buses on the middle of sides face
towards the centre. Bus H is immediate right of bus G, which is
parked at the corner. Bus E is second to the right of bus D and
both face in same direction. Three buses are parked between
bus E and bus F. Bus A is opposite to bus B. Bus B is not
adjacent to bus D. Bus C is not parked on the middle of the
sides.

Bus is third to the right of bus A.

T , T8 A o STU 6 T W 2|

1D
2) C
3)H
4) B
5) E



Statements:
No cap is pen.
Only a few brushes are cap.
Only a few pen are tree.
Conclusions:

I. All pen can be tree.
I1. All cap can be brush.

1) Only II follows.

2) Either I or 11 follows
3) All follow except 11.
4) Both I and II follow.
S) None follow.



Statements:

Only black are red.
Some black are green.
No green are blue.
Conclusions:

I. Some green are red.
I1. Some blue are red.

1) Only I follows

2) Only II follows

3) Either I or 11 follows
4) Neither I or II follows
5) Both I and 11 follows



Eight persons - A, D, H, M, N, P, R, and S live in a building of 4
floors and 2 flats - Flat 1 and Flat 2. Flat 1 is to the west of Flat
2 and Flat 1 of Floor 1 is immediately below Flat 1 of Floor 2
and Flat 2 of Floor 1 is immediately below Flat 2 of Floor 2 and
so on. P lives three floors above D but in different flats. N lives
immediately above R in the same flat. A lives above M but not
immediately above the floor. R lives to the West of M. H lives
above S who does not live to the East of D.

AT A - A, D, H, M, N, P, R 3TR S 4 WiKTeT 3TR 2 %< - FAC 1
3T FAC 2 hI TR | TBd 21 TAC 1, TAC 2 o TIYH H 2 AR
HISTA 1 T FAC 1, HISTA 2 & A 1 o Seh A1l 2 3T JiSTe 1 T
FAC 2, HiNTeT 2 & FAC 2 o 3leh Il & TR 3HT TR P, D ¥ i
HINTT FUX A TehT 7T FAe WX 2T 21 N, R & dieh U 3T Fele
HEAT 2l A, M % ZW BT & SIchT I6h HISTeT oh a1k HuX Tl
WA S R, M B UBAH@AT 8| H, SHh FWEATS, A D K UG

T TEar gl



Eight persons - A, D, H, M, N, P, R, and S live in a building of 4
floors and 2 flats - Flat 1 and Flat 2. Flat 1 is to the west of Flat
2 and Flat 1 of Floor 1 is immediately below Flat 1 of Floor 2
and Flat 2 of Floor 1 is immediately below Flat 2 of Floor 2 and
so on. P lives three floors above D but in different flats. N lives
immediately above R in the same flat. A lives above M but not
immediately above the floor. R lives to the West of M. H lives
above S who does not live to the East of D.

Who lives on the same floor as A?

A % THTT HiTeT USRI &t 22

DH / H
)R/ R
3)N /N
4HP /P
5)S / S



Eight persons - A, D, H, M, N, P, R, and S live in a building of 4
floors and 2 flats - Flat 1 and Flat 2. Flat 1 is to the west of Flat
2 and Flat 1 of Floor 1 is immediately below Flat 1 of Floor 2
and Flat 2 of Floor 1 is immediately below Flat 2 of Floor 2 and
so on. P lives three floors above D but in different flats. N lives
immediately above R in the same flat. A lives above M but not
immediately above the floor. R lives to the West of M. H lives
above S who does not live to the East of D.

Four of them belong to a certain group and follow a certain
pattern. Which of the following does not belong to that group?

ﬁﬁﬁwwﬁf%mﬁwﬁﬁ%aﬁ? ﬁf%ww



Eight persons - A, D, H, M, N, P, R, and S live in a building of 4
floors and 2 flats - Flat 1 and Flat 2. Flat 1 is to the west of Flat
2 and Flat 1 of Floor 1 is immediately below Flat 1 of Floor 2
and Flat 2 of Floor 1 is immediately below Flat 2 of Floor 2 and
so on. P lives three floors above D but in different flats. N lives
immediately above R in the same flat. A lives above M but not
immediately above the floor. R lives to the West of M. H lives
above S who does not live to the East of D.

Who lives two floors above S on the same flat?

S o 21 WAl U AU Tl § hid @aT 82



Eight persons - A, D, H, M, N, P, R, and S live in a building of 4
floors and 2 flats - Flat 1 and Flat 2. Flat 1 is to the west of Flat
2 and Flat 1 of Floor 1 is immediately below Flat 1 of Floor 2
and Flat 2 of Floor 1 is immediately below Flat 2 of Floor 2 and
so on. P lives three floors above D but in different flats. N lives
immediately above R in the same flat. A lives above M but not
immediately above the floor. R lives to the West of M. H lives
above S who does not live to the East of D.

Which of the following pair is correct?

freterRam W & ot a1 97 |t 72

1) Floor 4-Flat1-A / W74 -T2 1 - A
2) Floor 2 -Flat2 -R / T2 - %€ 2 - R
3) Floor 2 - Flat1-R / T2 -W€ 1 -R
4) Floor 3 -Flat2 - A / ARTA3-FAC2 - A
S) None of these / Sﬁﬁﬁaﬁ?qﬁ



Eight persons - A, D, H, M, N, P, R, and S live in a building of 4
floors and 2 flats - Flat 1 and Flat 2. Flat 1 is to the west of Flat
2 and Flat 1 of Floor 1 is immediately below Flat 1 of Floor 2
and Flat 2 of Floor 1 is immediately below Flat 2 of Floor 2 and
so on. P lives three floors above D but in different flats. N lives
immediately above R in the same flat. A lives above M but not
immediately above the floor. R lives to the West of M. H lives
above S who does not live to the East of D.

Who lives on the same flat number as D?

D & AU GEIT AT Tl | i @l 22

DH / H
)R/ R
3)N /N
4HP /P
5)S / S



Ten people- A, B, C,D, E, P, Q, R, S and T are sitting in two
rows with five persons in each row, not necessarily in the same
order. P, Q, R, S and T are sitting row 1 facing south and A, B,
C, D and E are sitting in row 2 facing north. Each person in row
one faces a person from the second row. Two people are sitting
between E and B, who is sitting to the right of E. The person
who is facing E is the immediate neighbour of R. S sits third to
the left of R. Two people are sitting between P and T, who is
facing E. Only one person is sitting between D and C, who is not
sitting at any extreme end of the row. A is the immediate

neighbour of both E and C.
AR -A,B,C,D,E, P, Q,R, saﬁTquﬁsﬁuﬁr
STfRRa % T TR § 90 &, WT@% H gl P,
Q, R, saﬁTTqﬁslﬁaF&méswé%%aﬁT zfrA,B, C,
ﬁTEW%W%%QﬁB T Uik S, E'Fl'ﬁtlﬁl-?%ﬁ
—q%%qu@%llzaﬁwéamzr fh IS 21 B, E mﬁ&ﬁ?
ST 21 T2 ATk AT E & OFE g, a?s'Rsmﬁmw %l
& T A A T U AST 81 P ﬁTT%w&wa‘r—Qﬁsa%%l
&% T 21 D 3R C o 72T Hhaol Ush Ik 3T 21 C Utk &
ot sifaq SR WAL FBT RN A, Eaﬁ'{caﬁraﬂﬁw

ﬂm
o—@



Ten people- A, B, C,D, E, P, Q, R, S and T are sitting in two
rows with five persons in each row, not necessarily in the same
order. P, Q, R, S and T are sitting row 1 facing south and A, B,
C, D and E are sitting in row 2 facing north. Each person in row
one faces a person from the second row.

Two people are sitting between E and B, who is sitting to the
right of E. The person who is facing E is the immediate
neighbour of R. S sits third to the left of R. Two people are
sitting between P and T, who is facing E. Only one person is
sitting between D and C, who is not sitting at any extreme end of
the row. A is the immediate neighbour of both E and C.

Who is facing C?
C émrg@ag-—r%?
1T

AN

3)Q

4) R

5) P



Ten people- A, B, C,D, E, P, Q, R, S and T are sitting in two
rows with five persons in each row, not necessarily in the same
order. P, Q, R, S and T are sitting row 1 facing south and A, B,
C, D and E are sitting in row 2 facing north. Each person in row
one faces a person from the second row.

Two people are sitting between E and B, who is sitting to the
right of E. The person who is facing E is the immediate
neighbour of R. S sits third to the left of R. Two people are
sitting between P and T, who is facing E. Only one person is
sitting between D and C, who is not sitting at any extreme end of
the row. A is the immediate neighbour of both E and C.

Who is sitting to the immediate left of the person who is facing

B?
B AT 3T GG STh oh S1eh AT i 8T 82

DT
2)S
3)R
4) Q
5) P



Ten people- A, B, C,D, E, P, Q, R, S and T are sitting in two
rows with five persons in each row, not necessarily in the same
order. P, Q, R, S and T are sitting row 1 facing south and A, B,
C, D and E are sitting in row 2 facing north. Each person in row
one faces a person from the second row.

Two people are sitting between E and B, who is sitting to the
right of E. The person who is facing E is the immediate
neighbour of R. S sits third to the left of R. Two people are
sitting between P and T, who is facing E. Only one person is
sitting between D and C, who is not sitting at any extreme end of
the row. A is the immediate neighbour of both E and C.

Which pair is sitting at the extreme ends of the row facing
north?

I AT I UTeh o ST DR U 3T T 3T THE I8T 82

DAandC / AARC
2)AandE / A IRE
3)Dand B / D AR B
4)Eand C / E3ARC
5)Eand D / E 3R D



Ten people- A, B, C,D, E, P, Q, R, S and T are sitting in two
rows with five persons in each row, not necessarily in the same
order. P, Q, R, S and T are sitting row 1 facing south and A, B,
C, D and E are sitting in row 2 facing north. Each person in row
one faces a person from the second row.

Two people are sitting between E and B, who is sitting to the
right of E. The person who is facing E is the immediate
neighbour of R. S sits third to the left of R. Two people are
sitting between P and T, who is facing E. Only one person is
sitting between D and C, who is not sitting at any extreme end of
the row. A is the immediate neighbour of both E and C.

How many people are sitting between R and S ?
R 3 S % Wea Rherd S 32

1) One / Tesh
2) Three / &=

3) Four / @R
4)Two / &
S) None / ﬁ‘s‘q%"r



Ten people- A, B, C,D, E, P, Q, R, S and T are sitting in two
rows with five persons in each row, not necessarily in the same
order. P, Q, R, S and T are sitting row 1 facing south and A, B,
C, D and E are sitting in row 2 facing north. Each person in row
one faces a person from the second row.

Two people are sitting between E and B, who is sitting to the
right of E. The person who is facing E is the immediate
neighbour of R. S sits third to the left of R. Two people are
sitting between P and T, who is facing E. Only one person is
sitting between D and C, who is not sitting at any extreme end of
the row. A is the immediate neighbour of both E and C.

Which pair of people are sitting exactly in the middle of the
rows?

UTtRal & Stk Wed W SATRRAN ST Shid O T 3T 82

)Rand A / RIARA
2)Cand Q / C IARQ
3)Band P / B3RP
4)DandS / DIARS
5 TandE / T3RE



In some of the following logic QUALITY is coded as
IEYNQFA following the same logic P will be coded

gﬁ%%?rwaaﬁﬁ QUALITY T IEYNQFA <
T § RIS TR TAT 7, IHT Teh T ATEUT it FU P
! 30 TehR ShiTSd fohaT ST )

a) JYHOYGR

b) JHBOYIR

¢) JHYOYGR

d) JYHOFGR

e) None of the above
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